Exam 1 The. X025 630 pm

MA 261 Exam 1 Location

RECITATION TA EXAM ROOM
LI WTHR 200
HOGLE WTHR 200
GRANADOS EE 129

HIATT EE 129
ENYEART Hiler Theater (WALC)
HARDWICK MTHW 210
GLENN SECTIONS 753, 761 |RHPH 172
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SMITH SECTIONS 777, 785 | LILY G126
SMITH SECTION 793 EE 170

e Bring your charged laptop
® Bringscratch papers
® Arrive by 6:20 pm
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Write the equation for the plane.

The plane passing through the points (1,2,6), (—1,4,0), and (3,1,5)

(O A, 2x+4y+5z2=40
O B. 6x+11ly-z=22
() C. 9x—-2y+8z=53
@ D. 4x+7y+z=24
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Given an acceleration vector, initial velocity (“0 ,v@) , and initial position (xo Yo). find the velocity and position vectors fort=0.
a(t)= (2.4), (ug.vo) = (4.4). (Xo.Yo) = (0.3)

What is the velocity vector?
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What is the position vector? \?(Q) e (uo' V°> = (Q.. Q)
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Determine whether the following curve uses arc length as a parameter. If not, find a description that uses arc length as a parameter.
rt)= (-4 cost,-4sint), forO<t<n

Choose the correct answer below.

O) A, T1(s)=(-4coss,~4sins), for 0Ss<4n ?‘t)" <"'l' cost' "'l'S'\’nf> oftsw
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O D. r1(s)=<—cosi,—sini>,for0335n
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Find the curvature of the curve r(t).

r(t)=(4 + In(sect))i +(2+t)k,-n/2 <t <=2
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The level curves of f(z,y) = e +¥' =V are @ circles
S

J B. parabolas
C. hyperbol
2efeeqy = € Ceonttant ) paholss

D. lines

E. (noncircular) ellipses
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Let f(z,y) = 222y +xy® and 2 = g(s,1), y = h(s, t) are functions of s and ¢t. Suppose
g(1,2) =1, h(1,2) = -1 and g—(l i) (1 2) = 1. Then at (s,t) = (1,2)
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s z*t +y* .
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